tan B
® a=ccosB

@c =asin (90° - B)

® c=bsinB+acosB

B

b b
1 B:— =
Ot c ¢ sin B
b b
tan B = — ; =
@ a tan B
@COSBZC—I . a=ccosB
c
® A C oA AB ol & =42 TS H 2 5tH cosB =
BH _
— .. BH =acosB
a
AH —
cos(90 — B) = - . AH=>bsinB

~ ¢c=AH+BH = bsinB +acosB




AABC A AABHh: 180° - /B
sin(180° - /B) = — o|2.2
h =0 x sin(180° — /B)

1 1
.. AABC = §ah = iaEl sin(180° — /B)

\_a__f’

AABC 9|4 /ABH = 180° - /B

sin(180° - /B) = —

olm g
h = ¢ xsin(180° — /B)

1 1
w2t AABC = Eah = §ac sin(180° — /B) °|t}




ok 2™l A, U] Eol & Rhedste] o AA A7k +
SHH? (T, sin 32° = 0.5299, cos32° = 0.8480, tan32° = 0.6249 )

® 12.5m @ 13.6m ® 14.9m

@®)15.0m ® 16.4m

BC = 24 tan 32° = 24 x 0.6249 = 14.9976(m)
= 15.0(m)




thS I3} 22 AABC oA B =
45°, BC = 8, AB = 6v2 & of, AC
o] dol& stoizt,

® 23 @ 25
(@)2@ @ 35
® 310

B

A A oA BC o W 49 2 H 2 s
1

ﬁ:ﬁsin45°:6«/§x7§=6
BH=AH=6°]E2
T 5O




oS IH3 gol
6, /ABE = 45° ¢l
AZY715 9] ROl =2

® 126 @%‘/6 @ 48

@ 686 @)

BE = 8 X cos45° = 42
1
AZ715 0] HE 4V2x4V2 X 5 x 6 =96 ot




3cm o)Al E/‘R_ﬂ]— wro] o]2= L 7}o] 77
7F60 Q1 Y& Ru]E F5HH?

® 6V2rem?® @ 7V3rcem? @9 V31 em?
@ 11v27rcm? ® 27rcm?

A& O] =0l 3. tan60° = 3V3(cm)
Ao Bl % x 91 x 3V3 = 93r(cm?) o]},




AH = vg + 2 o o
tan(90° —45°) 4 tan(90° — 60 °)
V3 +2

~ tand5° + tan30°
V3 +2




oh2 13 Zo] 100m BolA & %] C
A, BoJA skl W3le 75 C
Z ettE 457t 242H60°, 45° 9
o ol o, 52 &ol h =7

@ 100m @ 50V3m
® 100V3m @ 100(V3-1)m
@50(3—\/3)m
A C oA ¥ AB o &l =49 ¥-& H 2 o1, +59] %0l
h =t 3t
A ZyAr 7S ACH oA £ACH = 30° o] B2
tan30°—A= AH = Cthan3O°—Lh
CH V3
T, 227+ BCH oA /BCH = 45° ©]
tan45°—£ BH=CHxtan45° = h
CH
ol wj, AB = A0 + BH = —~ + 1= 100
V3
100V3
" h= 50(3 = V3)m
1+v3 ( )

i




thg 199 AABC oA LABH = A
60°, /ACH = 45° , BC = V3+1

A o, AH o] do]E x 2t 51 x? &

TSHA?

@ 2.2 @)3 @ 35 @ 4 ® 45




10. o5 193 Zol 443 ABC <A A
BC = 10ecm , AH 1L BC, Z/ABC = .
40°, tACB =50° 4 o], CH 9] Zo] !
=7 (&, tan50° = 1.2, tan40° = 0.8 :

[l
) B< i >C

TT=-10em-""

@ 2cm @)4 cm ® 5cm @ 6cm ® Tcm

CH = xcm 2} 5tH AACH |4 AH = xtan50°
AABH |4 AH = (10 — x) tan40°
xtan 50° = 10tan40° — xtan 40 °
x(tan 50 ° + tan 40°) = 10 tan 40 °
10tan 40° 10x0.8

* T fanb0° + tand0° 12408

4(cm)




